## Subtracting Factions

While subtracting two fractions, if denominator is same we only subtract numerator and keep the denominator same.

A. 
$$\frac{6}{10} - \frac{2}{10} - \frac{1}{10} =$$

B. 
$$\frac{9}{15} - \frac{2}{15} - \frac{2}{15} =$$

C. 
$$\frac{8}{17} - \frac{5}{17} =$$

D. 
$$\frac{6}{19} - \frac{1}{19} =$$

E. 
$$\frac{7}{18} - \frac{5}{18} =$$

F. 
$$\frac{8}{16} - \frac{4}{16} - \frac{1}{16} =$$

G. 
$$\frac{9}{10} - \frac{7}{10} =$$

H. 
$$\frac{9}{17} - \frac{6}{17} =$$

I. 
$$\frac{5}{13} - \frac{2}{13} =$$

$$\frac{9}{16} - \frac{3}{16} - \frac{3}{16} =$$

K. 
$$\frac{10}{14} - \frac{5}{14} - \frac{2}{14} =$$

$$.. \frac{\frac{7}{14} - \frac{4}{14}}{} =$$

M. 
$$\frac{8}{14} - \frac{2}{14} - \frac{1}{14} =$$

N. 
$$\frac{5}{11} - \frac{4}{11} =$$

## <u>Subtracting Factions</u> (<u>Answer Key</u>)

A. 
$$\frac{6}{10} - \frac{2}{10} - \frac{1}{10} = \frac{3}{10}$$

B. 
$$\frac{9}{15} - \frac{2}{15} - \frac{2}{15} = \frac{5}{15}$$

C. 
$$\frac{8}{17} - \frac{5}{17} = \frac{3}{17}$$

D. 
$$\frac{6}{19} - \frac{1}{19} = \frac{5}{19}$$

E. 
$$\frac{7}{18} - \frac{5}{18} = \frac{2}{18}$$

F. 
$$\frac{8}{16} - \frac{4}{16} - \frac{1}{16} = \frac{3}{16}$$

G. 
$$\frac{9}{10} - \frac{7}{10} = \frac{2}{10}$$

H. 
$$\frac{9}{17} - \frac{6}{17} = \frac{3}{17}$$

I. 
$$\frac{5}{13} - \frac{2}{13} = \frac{3}{13}$$

$$J. \boxed{ \frac{9}{16} - \frac{3}{16} - \frac{3}{16} } = \frac{3}{16}$$

K. 
$$\frac{10}{14} - \frac{5}{14} - \frac{2}{14} = \frac{3}{14}$$

L. 
$$\frac{7}{14} - \frac{4}{14} = \frac{3}{14}$$

$$M. \frac{8}{14} - \frac{2}{14} - \frac{1}{14} = \frac{5}{14}$$

N. 
$$\frac{5}{11} - \frac{4}{11} = \frac{1}{11}$$